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1. Answer the following as directed : 1x8=8
e RIS fAofrpie Ted fi -
(a) Define indifference curve.

fracers @I e |

(b) Slope of the budget line is positive.
(Write True or False)

7 (@YR e 4N | (3751 ¢ famy feram)

(¢ When total product is maximum,
marginal product starts declining.

(Write True or False)

afom qp Beom A =W, AMT Teom BT

230 4T | (31 &1 fagy o)
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(2) | (3)

2. Answer any six of the following questions :

(d) Diminishing MRTS results in isoquants
2x6=12

being convex/concave to the origin.

(Choose the correct option) werq 2R [ GIe =6 e fud -

FUEPEE MRTS T 9163 SHGAMA (@11 (%S Give two examples of fixed costs.
oS Tae] /oo 27 | %3 73 o1 Trr=a e |
(= fiscer AR Sferean)
b Define expansion path of a firm.
(e) State briefly the essence of Say’s law
of market. g3 AfSBIR FREPTRY +12T Figeal fiedl |
TaHE (5'3 RfET o1 U6 BT Sy 0| Distinguish between average revenue

and marginal revenue.

() What kind of inflation is caused by
SIS Y < AMfET S qrore <ndsy &7 |

an increase in wages and import

prices? . ' .

5 (d) Explain the effect of income change
TR o SR W gEe wee §ORE and price change of a good on the
g&rﬁﬁf\s 37 budget line of a consumer.

TUSIER @ (@R SRS SH RIS WE <Ol

(g9 In a perfectly competitive market,
R 7 RS 2o e 7 |

average revenue =

Fill in th k
(Fill in the blank] (e) Draw the indifference curves for
uul ARSI &€, T o = | perfect  substitutes and  perfect
(ﬁ 5% o <) complements.
of Reg =i T AfReFe TNAR Frers
(h) Adam Sm%th a_dvocated autarky as ZI::I%'\‘?{WW | ™ o
an economic policy.
(Write True or False) () What is normal profit?
g gy 3T IREe g S Aife Free @ 6 2
f2oreet fumt Rifee | (3761 &1 fargy feran)
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(4)

(g) State and explain the equation of
exchange.

R FRiesa Sras IR w0 0

(h) What is the difference between
precautionary motive and speculative
motive of demand for money?

e R Fedel T WE  FERALTO
e qes 14 2

(i Briefly state the components of Keynes’
aggregate effective demand.
@R S FALP] DR LTI T TCEd
41|

() What is comparative advantage in
production?

BeolT e 44 7

3. Answer any fourof the following questions :
5x4=20

oo 2P R GG BifhR T i

(a) Prove that the marginal rate of
substitution (MRS) between two goods
is equal to the absolute slope of the
indifference curve and also equal to
the ratio of marginal utilities.

o w91 @ qRY STae R ofes 2@
(MRS) Faer® a3/ SCeif o1 T e

A1 SoCafare SeAreCdl I |
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(b)

(c)

(d)

(e)

A25/238

(5)

Explain the following properties : 2Yex2=5

O] YN IR B9

(i) Indifference curve slopes from left
to right.

CReTE @4 AETFER [ CIFEE oMo
3 |

(i) Two indifference curves cannot
intersect.

ToTeT fPRCAT (IR FORAD I (I |

When are L-shaped isoquants obtained?
Explain.

L-S[gfeq SAGeAme (I (A (AR AW ?
EIEIISEIN

State and discuss the law of variable
proportions.

sRRETE Sprie RRGE TE I S
1

Why is the average revenue Curve
under monopoly downward sloping?
Discuss.

gt TaRe v W @ Fell = fRe
el F41 |

( Turn Over )



(9)

(h)

(6)

Illustrate the factors that cause
demand-pull inflation.

SIS JUPHIRS SKEbe F9 FRAE@R 9T
<411
How does Keynes’ theory differ from

the quantity theory as a theory of
demand for money?

TR i ©g R (F2 ogel AR T
A1 TP 45 ?

Discuss the benefits of free
international trade.

T& (o A& FRATIR S 47 |

4. Answer any two of the following questions :

10x2=20

o] AR T Cieen o Ted fira

(@)

(b)

A25/238

Explain consumer’s equilibrium with
indifference curves. Also show that price
effect is the sum-total of income and
substitution effects. 5+5=10
fraeers @@ Ote Sesrerm ST @

F1 AW (ST @ T g (ZR T
{45 2rerq M |

Explain in detail the laws of returns
to scale. 10

A AW afer Rt Repesia
I

( Continued )

()

(d)

(e)

A25—18+/238

(7))

Explain the credit creation process
of commercial banks. How does the
Central Bank influence the capacity of
credit creation by the commercial
banks? 6+4=10

AT @ da R afeaesr a1
FER @ AT @9 990 R e
[SEe R CERSiE e b

Discuss the classical theory of full
employment. Examine Keynes’ critique
of the classical theory. 6+4=10

of famr chafds oedr sicema <= |
G SYOR $[e (2R SHIEDEE
I 91 |

Distinguish between the static and
dynamic gains from trade. Discuss
how trade helps achievement of gains
from consumption and gains from
production. 4+6=10

qldeR &7 o sfoRie sreEe Weg 127
e 911 9fdeR v TeesR Ao we
AT TS E© SR T4, S0 4 |
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